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| NAME: _ SOLUTLONS
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Dawson College
Applied Math (201-943-DW S1)
Date: Dec 3rd 2010
Instructor: E. Richer

Question 1.
Solve the following equations.

- a. (4 marks) '
logs(x—5)-+logs(x+4) =2

I'ogg (x—-S)C%W) =2 X = 1 E{1-q¢29)

(v-8)x+q)= 3~ -
2 N1

2

Rout only 2= I+Vu% V1F
2

X% -x-20=9
X'—x-29 =0

IS a So Iu-’-rlorv

b. (4 marks)
3F2=4

(*-2)In3 =y
-2 =‘ Jh"‘{-

In

X = Iny +2
In3




Question 2. (3 marks each)

Perform the following operations involving complex numbers. Express your final
answer in rectangular form a +bj.

a. j+v/—4-(3+))
=yt (—D(aw)

= —-* +Zd/ +3+J)

b 2
= 27) (7)) = 6-3 .-_'_%_.-:.z_.*'
_. _LH'ZJ (‘-l*Z}) 20 o5
= S#qJ),qJJrZ(}?’
\/—1-1"163 1'“ | N AN
ey i | T
S Bl o R /N
B R
-8-—-—Ov+d—-l




'Question 3. (5 marks)

The sector of a circle pictured above has an area of 487cm?.

a. Find the radius of the "shaded" part of the sector.
b, Calculate the area of the area of the "shaded" part of the sector.

> A =_‘?._.r""e © in radianNg (7_0?: 120+ T
180
al =—er (_%_T__F> = 2 radu
| S E
Wemr =
3
1y = ¢2 | ‘
F“ [2¢cm Q0 rAc\J\US o-F ‘S‘Hado_x_l PAr-L—
(8 \2em-2em
= \IO cws
_ | e
b _ B = —-ir e
= =27
._i(\oB (,_.3.)
= 1007 cm*



ngsﬁon 4. (5 marks)
Solve the following equation for 6, 0° < 8 < 360°.
cos?x—cosx=0 '
cosx (cosx - =0
CoSx =0 or co$x=)

l )

<. = 90°, 2_#0° x= O

o

gOluT'IONS L—x_—-: O° y ‘30'°, 230°

Question 5. (2 marks each)
Find the exact values of the following.
a.s'm% = ‘\E/z_ l

1:).00554—»3'E = "/ﬁ
ccot“—"=i rl
. 6 -— 3




Question 6. (6 marks)
The angle depression from the top of the TRIG Tower to the t0p of the shorter

LOG Building across the street is 22° and the angle of depression from the top of
TRIG Tower to the bottom of the LOG Building is 54°. If the Log Bmldlng is 80m
in height, how far apart are the two buildings?

gy }
5y° y
20w,
'I'RIG '.I‘ower‘ | —";'_ Log Building
O tavgar=y @ kmers i
X

N= % tAn22® ¥ = x+tAnsy-80

C_oMBimiN% THE Two CQLATIONS we 88JC
xtanz2® = xXEansu® -84

X (+An22°—- tRNGL{OB = = 9_0

’x = - %O - —_ 80 ' - - 90
tan22°- TAnsY’ o.uoY — 1.37¢ = 0.972

I

{—8;2.'3@4 ™




Question 7. (2 marks each)

Using properties of logarithms, express each of the following as a single loga-
rithm. ' :

a. Inx —31nx%+5In2x

= |In (( 1>] + \n,(?—v)
In [x@zwg)] {E

b. (logs 4)(logsx)

= || 0%3(%10339)

Question 8. (2 marks each) -
Evaluate each of the following.
a. log, 32

= 10%2(2%) =

bng - lne® =2




Question 9. (5 marks)
Solve for x in the equation cosx = —0.35 subject to the conditions sinx < 0 and

0° <x < 360°

cos ' (-0.235) = 110.6°

/i o & =105
\-Hi_ @z: SGOOT‘HO-SO
= 249 g°

RiNnce SINX L0

'THE‘_.ONLT SoloTion 19 [X,= 2‘49.@

Question 10. (6 marks)
Find the three cube roots of —27. Express your answers in rectangular form.
: \

3
W2 wanNt G—?_?J,
‘2.'+O
__2'_}(} I~ szoMemhﬁL j:'orM.. is @2:7'6

or @ 23 % (add 360°)
90 _
or ® 27 89 ¢ (ndd 260°)

THKiN% The cobs mRoots

N\ Y%
' ' 63C / 990} 3
= (21e ”°) @ @ e |@ (2ve | )
0° 330
= 3 eQOJ[ = 3 e?.l J’ - 3 e b’
= 2c¢os 90 4+ 3%IN90° d’ 3(‘.09210 +3S‘\N2\Od 3c 0S330° +39m33c
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